HW – UNIT 2.2 -  EVERYDAY CONSUMER PRODUCTS
PART 1

1. Industrial ethanol can be manufactured from ethane by: 





      (1)



  

A. Condensation

B. Dehydration

C. Hydration

D. Hydrolysis

2. The method used to make ethanol from glucose is: 






      (1)
A. Distillation

B. Fermentation

C. Cracking

D. Hydrolysis
  3.  A solution containing two carbohydrates was tested as shown. 





    (1)
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The solution could have contained:

A. Starch and glucose

B. Starch and sucrose

C. Glucose and maltose

D. Fructose and sucrose

4. Which of the following is the molecular formula for a carbohydrate?



         (1)

A. C6H14O





B. C6H12O2
C. C6H10O4
D. C6H14O6
5. Which sugar will not be detected by the Benedict’s test?





         (1)
A. Fructose

B. Glucose

C. Sucrose

D. Maltose
6. The method used to increase the ethanol concentration of alcohol made from glucose is: 

       (1)
A. Distillation

B. Fermentation

C. Cracking

D. Hydrolysis

7. What type of substance is formed when starch is hydrolysed?




       (1)

A. A sugar

B. An acid 

C. An alcohol

D. An ester

8. What name is given to the reaction shown in the equation? 




                   (1)

[image: image3.png]CHEO, + 60, = 6CO, + 6H,0




A. Combustion

B. Condenstation

C. Dehydration

D. Hydrolysis

9. In which of the following experiments would both carbohydrates give an orange precipitate with Benedict’s solution?












       (1)
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10. Which drink is made by fermentation followed by distillation?




      (1)
E. Beer (5% alcohol)

F. Cider (8% alcohol)

G. Rum (40% alcohol)

H. Wine (11% alcohol)

PART 2 

1. Starch and glucose are carbohydrates. 
(a) Describe the chemical test, including the result, for starch. 




        (1) 

(b) Harry set up an experiment to investigate the burning of carbohydrates. 
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His results are shown below.
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(i) Which food, starch or sucrose, released the most heat energy?


        (1)

(ii) Harry used the same volume of water in each experiment. Suggest another variable which would have had to be kept the same to ensure a fair comparison.
        (1)


(c) Animals obtain energy by breaking down carbohydrates. Name this process.


        (1)

2. The experiment below was carried out to investigate what happens when different substances are heated then allowed to cool. 
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The results are shown below. 
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(a) In which test tube, A, B or C, did a chemical reaction take place? 




      (1)

(b) Suggest a name for the sugar in test tube C. 







      (1)

3. Carbohydrates are an essential part of our diet.

       (a) Why are carbohydrates an important part of our diet?





      (1)

        (b) Name the elements present in carbohydrates.




                              (1)

4. A series of fermentation experiments was carried out at different temperatures and the volume of carbon dioxide was measured.
[image: image12.emf]
Plot a line graph of these results, showing the temperature of the reaction against the volume of CO2 collected.












       
      (2)




TOTAL = 20 MARKS



















